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‘o This paper contains FIVE questions in FOUR pages.

e Attempt ALL questions.
o Total Marks: 80

Q.1 [24 Marks, 3 each] Underline the false statement, explain why it is wrong and correct it:

1.
o Moore’s law states that the number of transistors in a chip will double every two years.
In Von Neumann architecture, MPU can read RAM and ROM simultaneously.

[ B
In parallel processing next instruction is fetched while the current instruction executes.

.
Correctmn.
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‘s Toaccessa IKB memory, data and address lines must be § data lines and 8 address lines.
‘e Storage bits in SRAM are made of Flip-flop. : i
e MOV instruction is used in register addressing mode. e i
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° ATmega328p has 23 digital I/O lines distributed in three ports B, C and D
» Port C pins PCO to PC5 can be used as analog inputs.

Iearmg all bits of PINB makes all bits of port B as inputs.
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" Q.3 [12 Marks] The abbreviation of College of Electronic -Teehné_lpg_y (CET) is mhes"""“y seat -
from one Arduino Uno to another using UART technique. Ifthe ASCII code for G, E and T are 0x43,
- 0xd5 and 0x54 respectively, carry out the following tasks: ! '

a) [8 marks] Draw the resultant UART signal with 8 data bits, O'dd pal"‘i_ty- and ﬁwo stop bits.
b) [4 marks] Write assembly instructions to set transmission speed at 4800 bps.

~ Q.4[12 Marks] For I2C serial communication protocol shown in figure (1), answer the following:

a) [3 marks] In figure (1.a), what is the value of N of last slave? Blaibomi@*y?ﬁf answer.
b) [4 marks] Which slave the master is communicating with according to timi itk

¢) [5 marks] Redraw the timing diagram to represent the master reading from ]
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- Q.5 [24 marks] Study the circuit shown in figure (2) below “and then answer the followmg

vCC
ATMega328p
PBIC
=1
: [wvss Ly .3 y 43V ;

Fig. (2)

3 ﬁ; at is the name and purpose of pin 17
) [3 marks] What is the name and purpose of resistor A?

c) [2 marks] Replace letter B with possible pin number?
d) [4 marks] What is the digital out if voltage measured at LM35 output pin is
¢) [4 marks] Write assembly instruction(s) to configure AREF as shown.

) [ mar ks] What is the name and purpose of block c?




